
EW signal Higgs boson Tight fiducial Loose fiducial

p`
′
1

T [GeV] >25 >25 >25 >20
p`
′
2

T [GeV] >15 >15 >15 >20
p`T [GeV] >20 >20 >20 >20
|ηµ| <2.4 <2.4 <2.5 <2.5
|ηe| <2.5 <2.5 <2.5 <2.5

|m`′`′ −mZ| [GeV] <15 <15 <15 <15
m3` [GeV] >100 >100 >100 >100
m`` [GeV] >4 >4 >4 >4
pmiss

T [GeV] >30 >30 — —
|ηj| < 4.7 <4.7 <4.7 <4.7

pj
T [GeV] >50 >30 >50 >30
|∆R(j, `)| >0.4 >0.4 >0.4 >0.4

nj ≥2 ≥2 ≥2 ≥2
pb

T [GeV] >30 >30 — —
|ηb| <2.4 <2.4 — —
nb =0 =0 — —
mjj >500 >500 >500 >500
|∆ηjj| >2.5 >2.5 >2.5 >2.5

|η3` − (ηj1 + ηj2)/2| <2.5 — <2.5 —


